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D) How do the expressions 4(3 + x)and (3 + 3 + 3 + 3) +
(x+x + X + x) compare to one another?

Simplify the expression 4«3 + 4 - x.

[E) What property can you apply to write 4(3 + x) as the
equivalent expression in problem 27

Write two expressions that are equivalent to 2(x + 4).
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(B Use the distributive property to write an expression that
s equivalent to 7(3x — 4).

(@ Use the distributive property to write an expression that
is equivalent to 10 + 15x.

Use the distributive property to find an expression that is
equivalent to 27x* — 42x + 12.

(B Evaluate 27x* — 42x + 12 and the equivalent expression
that you wrote in problem 7 for x = 2. What do you notice
about the value of the two expressions?

‘Show your work.

Solution:
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[B) Four students were asked to write an expression that is
equivalent to 8x — 20. The students’ names and the
expressions they wrote are shown in the table.

Student Expression

Ali —4(2x+5)
Craig x5
Ester a0,
Lisa 2i4x = 10)

a. Which student(s) wrote correct expressions?

b, For each incorrect expression, explain what the
student did to get his or her answer.
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Which expression is equivalent to 3n + 2(1 — 4n)?
A 2-n C 241
B 2-5n D 2-1n

Samuel chose A as the correct answer. How did he get
that answer?

To simplify this
expression, what
should you do first?

B} The width of a rectangle is represented by 5 + 2y.

The length is twice as long as the width. What is the

perimeter of the rectangle? Select all correct expressions.

A 45+2)
B 6(5+2y)
C 20+8
D 30+1y

E) Thelength of one side of a square field is represented by

the expression 3 — 7x.

. Write an expression for the perimeter of the field
expressed as a sum.

b. Whatis an expression for the perimeter of the field
expressed as a product?

€. Use the distributive property to write the productin
part (b) as an equivalent expression.

A diagram might
help you solve this
problem.

How do you find the
perimeterof a
square?





